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Note : This paper is of thirty (30) marks containing three 

(03) sections A, B and C. Learners are required to 

attempt the questions contained in these sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= rhl ¼30½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‘A’ contains four (04) long answer type 

questions of seven and hal1f (7 ) marks each. 

Learners are required to answer two (02) questions 

only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, lk<s+ lkr ¼7 ½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. State and prove Maximum Power Transfer Theorem. 

vf/kdre ‘kfDr lapj.k izes; dk izdFku nsdj bls fl) 

dhft,A 

2. Explain the importance of biasing in transistor 

amplifier. Draw circuit diagram for fixed bias and 

explain its working. 

VªkaftLVj izo/kZu eas ck;flax dh vko’;drk le>kb;sA fu;r 

ck;l dk fp= cukdj bldh dk;Z&iz.kkyh le>kb;sA 

3. Draw the input and output characteristics of common 

emitter configuration. What do you infer from these 

characteristics ? 

mHk;fu”B mRltZd foU;kl ds fy, fuos’kh o fuxZe 

vfHky{k.k [khafp,A bu vfHky{k.kksa ls vki D;k fu”d”kZ 

fudkyrs gSa \ 

4. Explain the working of MOSFET by its diagram. Show 

the characteristics curve of its. 

eksLQsV dk fp= cukdj bldh dk;Z&iz.kkyh dh O;k[;k 

dhft,A blds oksYVrk /kkjk vfHkyk{kf.kd oØ dks n’kkZb;sA 
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‘B’ contains eight (08) short answer type 

questions of two and half (2 ) marks each. Learners 

are required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, <kbZ ¼2 ½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

1. Using Thevenin’s theorem, calculate the current in the 

load RL in the given circuit. 

 

 

 

 

 

 

ifjiFk esa n’kkZ;s x;s yksM izfrjks/k L(R )  esa ls izokfgr /kkjk 

dh x.kuk Fksosfuu izes; dk iz;ksx dj dhft,A 
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2. What is Network ? Discuss active and passive 

networks. 

tky (Network) D;k gS \ fØ;k’khy vkSj vfØ;k’khy tky 

dks le>kb;sA 

3. Explain P-N junction diode equation. 

P-N laf/k Mk;ksM lehdj.k le>kb;sA 

4. State Kirchoff’s laws for an electrical network. 

,d fo|qr usVodZ ds fy, fdjpkWQ ds fu;e crkb;sA 

5. Explain comparison of L and  section filters. 

L rFkk  vuqHkkx fQYVj esa rqyuk dhft,A 

6. What is voltage multiplier ? Explain voltage quadruple. 

oksYVrk xq.kd D;k gS \ oksYVrk prqxZ.kd dks le>kb;sA 

7. What is voltage regulation ? Explain how a Zener 

diode regulate voltage. 

oksYVrk fu;e D;k gS \ tsuj Mk;ksM }kjk oksYVrk fu;eu 

djus dh fof/k dk o.kZu dhft,A 

8. Prove that : 

A A B A B   

fl) dhft, fd % 

A A B A B  

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‘C’ contains ten (10) objective type 

questions of half ( ) mark each. All the questions of 

this section are compulsory. 
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uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, vk/kk ¼ ½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

1. Dual of Thevenin’s theorem : 

(a) Maximum power transfer theorem 

(b) Norton’s theorem 

(c) Reciprocity theorem 

(d) None of these 

Fksosfuu izes; dh nwljs izes; % 

¼v½ vf/kdre ‘kfDr lapj.k izes; 

¼c½ ukWVZu izes; 

¼l½ ikjLifjdrk izes; 

¼n½ buesa ls dksbZ ugha 

2. The relation between triode constants is : 

(a) P mR g 1   (b) P

m

R

g
 

(c) m

P

g

R
 (d) P mR g  

Vªk;ksM fLFkjkad esa vkil esa lEcU/k % 

¼v½ P mR g 1 ¼c½ 
P

m

R

g
 

¼l½ 
m

P

g

R
 ¼n½ P mR g  
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3. Holes can exist in : 

(a) metals (b) insulators 

(c) semiconductors (d) transformers 

gksYl fdlesa ik;s tkrs gSa \ 

¼v½ /kkrqvksa ¼c½ balqysVj 

¼l½ v/kZpkyd ¼n½ VªkalQksjej 

4. Relation between feh  and fbh  is : 

(a) 
1

1
fe

fb

h
h

  (b) 
1

1
fe

fb

h
h

 

(c) 
1

1
fe

fb

h
h

 (d) 
1

1
fe

fb

h
h

 

feh  vkSj fbh  ds chp lEcU/k gS % 

¼v½ 
1

1
fe

fb

h
h

 ¼c½ 
1

1
fe

fb

h
h

 

¼l½ 
1

1
fe

fb

h
h

 ¼n½ 
1

1
fe

fb

h
h

 

5. A diode as a rectifier converts : 

(a) A C into D C 

(b) D C into A C 

(c) varying D C current into constant D C current 

(d) None of these 
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,d Mk;ksM fn”Vdkjh dh rjg fdldks cnyrk gS \ 

¼v½ AC ls DC esa 

¼c½ DC ls AC esa 

¼l½ DC /kkjk ls dkWUlVsaV DC /kkjk esa 

¼n½ buesa ls dksbZ ugha 

6. In a bridge rectifier, the number of diodes required is :  

(a) 1 (b) 2 

(c) 3 (d) 4 

,d fczt fn”Vdkjh esa] fdrus Mk;ksM dh vko’;drk gS \ 

¼v½ 1 ¼c½ 2 

¼l½ 3 ¼n½ 4 

7. Emitter follower is a transistor amplifier of the type : 

(a) Common-base 

(b) Common-emitter 

(c) Common-collector 

(d) None of these 

VªkaftLVj izo/kZu fdl rjg dk ,feVj Qksyksoj gS \ 

¼v½ mHk;fu”B vk/kkj 

¼c½ mHk;fu”B mRltZd 

¼l½ mHk;fu”B laxzkgd 

¼n½ buesa ls dksbZ ugha 

8. Boolean expression Y AB BA+  is given if A = 1, 

B = 1, then y =  

(a) 0 (b) 1 

(c) 11 (d) 10 
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cwfy;u lehdj.k  

Y AB BA+  

;fn A 1, B 1] rc y = 

¼v½ 0 ¼c½ 1 

¼l½ 11 ¼n½ 10 

9. The value of  of a transistor is : 

(a) more than 1 (b) less than 1 

(c) 1 (d) more than 100 

fdlh VªkaftLVj gsrq  dk eku gksrk gS % 

¼v½ 1 ls T;knk ¼c½ 1 ls de 

¼l½ 1 ¼n½ 100 ls T;knk 

10. Negative feedback is employed in : 

(a) Oscillators (b) Rectifiers 

(c) Amplifiers (d) None of these 

_.kkRed iqufuosZ’k dk iz;ksx gksrk gS % 

¼v½ nksfy= esa ¼c½ fn”Vdkjh esa 

¼l½ izo/kZd esa ¼n½ buesa ls dksbZ ugha 
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